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Note: The answer is for reference only, you need to understand all question. 

 

QUESTION 1 

Which two statements are true regarding Oracle Net? (Choose two.) 

 

A. It must reside only on the client for traditional client/server applications. 

B. It must reside only on the database server for web-based applications. 

C. It must reside on both the web server and database server for web-based applications. 

D. It must reside on both the client and database server for traditional client/server applications. 

 

Answer: CD 

 

 

QUESTION 2 

You want to change your database by adding some new columns to a particular tale. These new columns 

represent new data that is not accessed by the current application. 

 

Which approach would be the simplest in making these changes? 

 

A. Use edition-based redefinition to create a new version of the table. 

B. Add the columns to the table, since dependent objects will not be affected. 

C. Encompass all access to these columns in separate PL/SQL procedures to avoid dependency issues. 

D. Add the columns to a different table and create a view to access the joined result. 

 

Answer: A 

 

 

QUESTION 3 

Choose three areas for which Oracle Database 11g Release 2 and Enterprise Manager offer tools that can 

recommended solutions on optimal implementation. 

 

A. Indexes 

B. Compression 

C. Data recovery 

D. Data block size 

E. CPU usage 

F. Availability 

 

Answer: ABE 
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QUESTION 4 

You issue the following command as a DBA: 

 

SQL> SHUTDOWN 

 

What would be the outcome of the above command? 

 

A. It causes the instance to abort. 

B. It waits for all sessions to disconnect. 

C. It rolls back the current transactions and disconnects a/I sessions. 

D. It waits for the current transaction in each session to complete before disconnecting the sessions. 

 

Answer: B 

 

 

QUESTION 5 

Which statement is true regarding Automatic Memory Management? 

 

A. You need to specify only the SGA memory size. 

B. You need to specify the SGA and PGA memory sizes separately. 

C. You need to specify the total memory size, which is dynamically sized forSGA and PGA components 

and can beexchanged between the SGA and PGA. 

D. You need to specify the total memory size, which is dynamically sizedfor SGA and PGA components 

but cannot be exchanged between the SGA and PGA. 

 

Answer: C 

 

 

QUESTION 6 

You are a performance-sensitive DBA, and you are nervous about gathering new statistics, since they may 

alter optimization plans in an unexpected way. To avoid this potential outcome, your best course of action 

would be to: 

 

A. refrain from collecting statistics 

B. use Real Application Testing to capture the workload and the worked and then run the worked on a test 

machine 

C. use hints to create fixed plans for SQL statements 

D. use deferred publishing of statistics to allow you to test execution plans before making the statistics 

public 

E. use invisible indexes to dominate execution plans 

 

Answer: D 

2



 3  

 

 

 

QUESTION 7 

Which three options correctly map SQL commands with their categories? (Choose thee) 

 

A. SELECT: transaction control 

B. DROP: data control language 

C. ROLLBACK: transition control 

D. REVOKE:Data control language 

E. ALTER: Data manipulation language 

F. MERGE: Data manipulation language 

 

Answer: CDF 

 

 

QUESTION 8 

Which three statements are true regarding an Oracle instance? (Choose three) 

 

A. One instance is associated with only one database. 

B. Multiple database instances can run on one computer. 

C. Only one database instance can run on one computer. 

D. One instance can be associated with multiple databases. 

E. A database instance is created based on the information in the control file. 

F. A database instance is created based on the information in the SPFILE file. 

 

Answer: ABF 

 

 

QUESTION 9 

Which two statements are true regarding the use of SQL in Oracle database? (Choose two) 

 

A. SQL is used to control access to the database and its objects. 

B. SQL can handle the creation of variables to store temporary values in a session. 

C. SQL allows a user to specify where the data is physically stored on the storage device. 

D. SQL is used to manipulate the data in binary file large objects (LOBs) that are stored outside the 

database. 

E. All SQL statements automatically use the optimizing that is available as part of Oracle database to 

determine the most efficient means of accessing data. 

 

Answer: AE 

 

 

3


